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b | 72 -30 18,292 36 3 7 0 19 6 1
AR 30 +9 8,661 14 1 5 0 7 3 0
bR TIic] 51 +11 14,224 24 3 11 0 10 3 0
X = 53 +20 15,017 27 8 4 0 12 2 0
KE R 30 +19 8,084 21 2 3 0 1 2 1
KE A 11 -19 1,815 7 2 2 0 0 0 0
553 33 =7 3,113 8 5 3 0 13 4 0
JI | 53 -17 7,687 14 14 5 0 11 9 0
H 34 +11 10,334 13 5 8 1 6 1 0
g B 55 -30 9,434 18 10 5 0 11 11 0
ESTR 3 36 -1 7,452 12 0 4 0 12 7 1
EOm 87 +29 15,393 28 16 7 1 27 7 1
£ E 63 -6 19,776 20 11 6 1 20 5 0
B K 19 -7 5,901 15 3 0 0 0 1 0
I 24 -14 5,358 12 2 2 0 3 5 0
B A 65 +2 10,380 24 5 14 0 17 5 0
R 75 +26 14,413 23 3 3 0 24 21 1
oW 65 -42 14,630 26 5 5 0 14 15 0
7 A fE 55 +21 11,797 19 5 9 0 15 7 0
Bk AE 20 +3 2,347 4 4 3 0 8 1 0
= /NS 22 +h 2,016 3 4 4 0 8 3 0
N 14 +2 3,335 6 0 3 0 2 2 1
B R 6 +2 1,041 2 0 1 0 3 0 0
N BB 3 -1 1,605 2 0 1 0 0 0 0
X &K 27 +14 5,840 8 3 8 0 7 0 1
D 3 0 299 1 0 0 0 2 0 0
E A 27 +h 8,496 8 2 6 0 8 2 1
A 20 +9 4008 6 3 4 0 6 1 0
F B 4 -3 474 0 0 0 0 3 0 1
T H 13 +6 4320 5 1 3 1 3 0 0
N & 2 -8 359 1 0 0 0 1 0 0
m & 12 -2 3,691 6 2 0 0 3 1 0
5 47 -16 13,575 32 2 3 0 7 3 0
B 37 -2 16,325 17 1 2 0 5 12 0
s A 93 +6 27,086 37 9 12 0 29 6 0
A E 27 -9 4103 7 2 3 0 12 3 0
= F 14 -9 2,343 2 0 1 5 2 0
2 PR 4 -2 750 0 0 0 0 0
= 30 -26 6,133 10 7 3 0 6 0
&5t 1,336 -51 309,725 524 145 159 5 338 156 9




